Chapter 17: Electric Potential
College Physics

Chapter 17

electric potential

Problems


1.
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11.
(a)
Since V is positive, q is 
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(b)
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 so since the potential is doubled, the distance is halved, or 
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21.

[image: image5.wmf]VEd

D=

 for a uniform electric field.
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31.
Since positive charges move through decreases in potential, and since the potential and potential energy are greatest at A, the proton will spontaneously travel from point A to point E. So, 
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45.
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57.
(a)

[image: image9.wmf]9

11

(20.0 C)(1.0010 V)10.0 GJ

22

UQV

=D=´=




(b)
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(c)
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73.
Let 
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 be the field outside of the dielectric after it is inserted, and 
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 be the field inside the dielectric. Use the principle of superposition for the potential after the dielectric is inserted and the fact that 
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Initially:
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Finally:
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Solve for 
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Calculate 
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